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Sachin completed his century at 4.30p.m we reached the stadium at 4. 45p.m
1) When we reached the stadium, sachin completed his century.

2) When we had reached the stadium, sachin already completed his century.
3) When we reached the stadium, sachin had already completed his century.
4) When we had reached stadium, sachin had already completed his century.

she usually ('sit) in the front row

1) sits 2)is sitting 3)sit 4) will sit

| can’t remember .....incident, which she told

1) A 2) an 3) the 4) No article.
Shankar dada is M.B.B.S doctor.

1) A 3) the 4) no article
The traveller said, “ But on his visit, | notice a sea change!”

1) The traveler exclaimed that on that visit, he noticed a sea change

2) The traveler informed that on that visit, he notices a sea change.

3) The traveler perceived that on that visit, he had noticed a sea change
4) The traveler said that but on this visit, he noticed a sea change.

She said to her brother , “ Am doing e right thing?”

1) She asked her brother whether she was doing the right thing.
2) She wondered if she is doing the right thing

3) She asked her brother whether she did the right thing.

4) She questioned her brother if he was doing the right thing

She rendered the song beautifully (Change the voice)
1) The songis rendered beautifully by her.

2) The song was rendered her beautifully.

3) The song was rendered beautifully by her.

4) The song she rendered beautifully.

He handed her a letter

1) She was handed to a letter 3) A letter was handed to her.
2) She was handed a letter by him 4) She is handed a letter by him.
Which language is used for friends

1) formal 2) in formal 3) personal 4) impersonal

Heading of a letter consists of
Place 2) date 3) 1&24) none
with some valuable books. He is a thief.

Ran way 2) ran across 3)ranin to 4) ran for

. Ildentify the silent letter in the word. ‘yacht’

1) c 2) h 3)t 4) ch
. They came the room slowly

1) Into 2) onto 3)in
. The girl was absorbed

On 2)in 4)upon

. We saw a singing bird in the morning.
1) noun 2) adjective 3) verb 4) adverb

. Revanth is very fast
1) verb 2) adverb 3)adjective 4) noun

. Ildentify the correctly spelt word.
1) Vacume 2) vacuum 3) vacum 40 vocume

. The African elephant is larger than many other animals ( change in P.D)
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1) no other animalis so larger as the african elephant.

2) Very few animals are as large as the african elephant.

3) Some animals are atleast as large as theafrican elephant.
4) No other elephant is so large as the african elephant.

. /t<  elnds; / change the phonetic transcription in to english word.
1) Tank 2) chance 3) change 4) tent

A _soundsin
1) Class 2) fun  3) pen 4) fan

your brother has just passed his exams ( what would you say )
1) good luck 2) well done 3)That’s all right 4 )don’t worry

d freely

2) graciously and profusely 4)frankly a

Ere ing.{identify t | which.is.cl . ing)

1) disappointing 2) disenchanting 3) humiliating  4)repulsive

The antonym of ‘ genuine’ is

1) cheap 2) fair  3)fake 4) fine

She is very late ta class today, ?

1) Isshe? 2)isn’t she? 3)hasn’t she 4)doesn’t she?
. Abhishek knows Aishwarya is coming tomorrow. How can he confirm

1) vyou are coming tomorrow, isn’t it?
2) you are coming tomorrow, aren’t you?

2) Arao o At s ko e g
=J ] AT yOuUCoTTTIig tOTTTOTTOW,;

4) You are coming tomorrow, aren you
. He is not strong. He is not brave ( combine the sentences )
he is either strong or brave.
He is not strong therefore he is not brave.

He-isneitherstrongnor-brave:
He is not strong so he is not weak.
. He studied hard. He got a first class ( combne the two sentences in to simple sentence)
1) having studied hard, he got a first class.
2) He studied hard, therfore he got a first class
3) Being studied hard hegot a first class.
4) He got first rank because he studied hard.

Passage

At a time when we are enjoying longer, more healthful lives, ominous headlines
announce researchers tie aluminum to Alzheimer’s disease and coffee linked to cholesterol rise.
As a result of a alarming and some times ambiguous bulletins, minor health worries often
become major threats, and speculations about disease prevention become ‘proven’ cures. Part
of the problem is that the media often trumpet questionable research findings as major medical
break-through. In 1985, three French scientists told reporters at a press conference that the
drug cyclosporine appeared to halt the growth of the AIDS virus. They based the announcement
on their observation of two AIDS patients treated for eight days. Never mind that no actual
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study had been done; for the media, the announcement was enough, and the story became
front-page news around the world. Unfortunately, one of the patients died with in days.
Cyclosporine was no miracle cure.

29. According to the writer a lot of present day medical research is
1) Sound and dependable 3) of questionable merit
2) Utterly unconvincing 4) of no value at all

. The undue publicity given to such research
1) has no impact on people’s lives in general
2) Adds to people’s worries and gives them false hopes.
3) Fills people’s lives with death and destruction
4) Makes people aware of the disesses.

. The role of the media has been
1) To make people aware of possible health hazards
2) To give publicity to questionable research finding.
3) To dispel people’s fears about unknown diseases
4) To report major medical discoveries.

. According to some of the research findings coffee is responsible for the rise in
1) Cyclosporine 3) AIDS
2) Alzheimer’s disease. 4) cholesterol level

. The drug cyclosporine was reported
1) Asatreatment for AIDS
2) As having no effect on the treatment for AIDS
3) As accelerating the growth of AIDS
4) As being responsible for the death of two AIDS patients.

34.Find out the part of sentence which has an error.
One of my friend (a)/ has been working ( b) / in infosys ( c) / for 2 years (d)
1)a 2) ¢ 3)d 4)b

35.which of the following words is monosyllabic
1)saucer 2) screw 3)pencil 4) dinner

36.a dogs legs at the back are called
1) rear legs 2) hind legs 3) behind legs  4) back legs

Key
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1. Sachin completed his century at 4.30p.m we reached the stadium at 4. 45p.m 


1) When we reached the stadium, sachin completed his century.


2) When we had reached the stadium, sachin already completed his century.


3) When we reached the stadium, sachin had already completed his century.


4) When we had reached stadium, sachin had already completed his century.


2. she usually …………( sit ) in the front row

1) sits

2)is sitting

3)sit 
4) will sit


3. I can’t remember …..incident, which she told

1) A

2) an

3) the 

4) No article.


4. Shankar dada is ……………..M.B.B.S doctor.

1) A

2) an

3) the 

4) no article


5. The traveller said, “ But on his visit, I notice a sea change!”

1) The traveler exclaimed that on that visit, he noticed a sea change


2) The traveler informed that on that visit, he notices a sea change.


3) The traveler perceived that on that visit, he had noticed a sea change


4) The traveler said that but on this visit, he noticed a sea change.


6. She said to her brother , “ Am doing e right thing?”

1) She asked her brother whether she was doing the right thing.


2) She wondered if she is doing the right thing


3) She asked her brother whether she did the right thing.


4) She questioned her brother if he was doing the right thing


7. She rendered the song beautifully (Change the voice)

1) The song is rendered beautifully by her. 


2) The song was rendered her beautifully.


3) The song was rendered beautifully by her.


4) The song she rendered beautifully.


8. He handed her a  letter

1) She was handed to a letter


3) A letter was handed to her.


2) She was handed a letter by him

4) She is handed a letter by him.


9. Which language is used for friends

1) formal
2) in formal
3)  personal
4) impersonal


10. Heading of a letter consists of……….


1) Place

2) date

3)  1 & 2
4)  none

11. Ajay ……………with some valuable books. He is a thief.

1) Ran way
2) ran across
3)ran in to 
4) ran for


12. Identify the silent letter in the word. ‘yacht’

1) c

2) h
3) t


4)  ch


13. They came …………the room slowly

1) In to

2) on to

3) in

4) for


14. The girl was absorbed………………her work

1) On 

2) in 

3) for

4)upon


15. We saw a singing bird in the morning.

1) noun

2)  adjective

3) verb

4) adverb


16. Revanth is very fast

1) verb
2) adverb

3)adjective

4) noun


17. Identify the correctly spelt word.


1) Vacume
2) vacuum

3) vacum

40 vocume

18. The African elephant is larger than many other animals ( change in P.D)

1) no other animal is so larger as the african elephant.

2) Very few animals are as large as the african elephant.

3) Some animals are atleast as large as theafrican elephant.

4) No other elephant is so large as the african elephant.

19. / t [image: image2.png]



eInd3 / change the phonetic transcription in to english word.

1) Tank
2) chance
3) change
4) tent


20. [image: image4.png]



 sounds in ………

1) Class

2) fun
3) pen

4) fan


21. your brother has just passed his exams ( what would you say )

1) good luck

2) well done
3)That’s all right
4 )don’t worry


22. On the eve of his retirement the manager thanked his colleagues………….


1) Sweetly and melodiously 


3) slow and steadily


2) graciously and profusely


4)frankly ad freely


23. Frustrating.( identify the word which is closest in meaning)


1) disappointing
2) disenchanting
3) humiliating
4)repulsive


24. The antonym of ‘ genuine’ is


1) cheap
2) fair
 3)fake

4) fine


25. She is very late to class today,………?


1) Is she?

2)isn’t she?

3)hasn’t she
4)doesn’t she?

26. Abhishek knows Aishwarya is coming tomorrow. How can he confirm

1) you are coming tomorrow, isn’t it?

2) you are coming tomorrow, aren’t you?

3) Are you coming tomorrow,


4) You are coming tomorrow, aren you


27. He is not strong. He is not brave ( combine the sentences )

1) he is either strong or brave.

2) He is not strong therefore he is not brave.

3) He is neither strong nor brave.

4) He is not strong so he is not weak.

28. He studied hard. He got a first class ( combne the two sentences in to simple sentence)

1) having studied hard, he got a first class.

2) He studied hard, therfore he got a first class

3) Being studied hard hegot a first class.

4) He got first rank because he studied hard.

 




Passage



At a time when we are enjoying longer, more healthful lives, ominous headlines announce researchers tie aluminum to Alzheimer’s disease and coffee linked to cholesterol rise. As a result of a alarming and some times ambiguous bulletins, minor health worries often become major threats, and speculations about disease prevention become ‘proven’ cures. Part of the problem is that the media often trumpet questionable research findings as major medical break-through. In 1985, three French scientists told reporters at a press conference that the drug cyclosporine appeared to halt the growth of the AIDS virus. They based the announcement on their observation of two AIDS patients treated for eight days. Never mind that no actual study had been done; for the media, the announcement was enough, and the story became front-page news around the world. Unfortunately, one of the patients died with in days. Cyclosporine was no miracle cure. 


29. According to the writer a lot of present day medical research is


1) Sound and dependable

3) of questionable merit


2)  Utterly unconvincing

4) of no value at all


30. The undue publicity given to such research 

1) has no impact on people’s lives in general

2) Adds to people’s worries and gives them false hopes.

3) Fills people’s lives with death and destruction

4) Makes people aware of the disesses.

31. The role of the media has been 


1) To make people aware of possible health hazards


2) To give publicity to questionable research finding.


3) To dispel people’s fears about unknown diseases 


4) To report major medical discoveries.


32. According to some of the research findings coffee is responsible for the rise in 


1) Cyclosporine


3) AIDS


2) Alzheimer’s disease.

4) cholesterol level


33. The drug cyclosporine was reported

1) As a treatment for AIDS


2) As having no effect on the treatment for AIDS


3) As accelerating the growth of AIDS


4) As being responsible for the death of two AIDS patients.


34.Find out the part of sentence which has an error.

One of my friend (a)/ has been working ( b) / in infosys ( c) / for 2 years (d)

1)a                    2)  c

3) d

4) b


35.which of the following words is monosyllabic

1)saucer                  2) screw         3)pencil       
4) dinner


36.a dogs legs at the back are called…….

1) rear legs                  2) hind legs


3) behind legs
4) back legs


Key



 1) 3

2)   1

3)  3

 4) 2

5)   1

 6) 1




 7) 3

8) 2

9) 2

10) 3  

11) 1

12)  4




13) 1

14) 2

15) 2

16)  2

17)  2

18)  2




19) 3

20) 2

21) 2

22) 2

23) 1

24) 3




25)  2

26) 2

27) 3

28) 1

29) 3

30) 2




31) 2

32) 4

33) 1

34) 1

35) 2

36) 2




